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SECTION-A
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i) General Awareness

In which of the following state world’s
largest Solar Park launched recently ?
(A) Tamil Nadu

(B) Odisha

(C) Karnataka

(D) None of the above

What is the main aim of Gaj Yatra, which

was recently launched by Environmental

Ministry ?

(A) Securing 100 elephant corridors
across India

(B) To raise awareness against
elephant exploitation in timber
industries

(C) Toraise awareness against captive
breeding of elephants

(D) None of the above

Which of the following bank recently
launched the South East Asia’s first
ever centre for climate change ?

{A) NABARD

(B) SIDBI

(C) EXIM Bank

(D) None of the above

Which of the following organization
releases the rule of law index ?

(A) World Justice Project

(B) International Court of Justice

(C) International Labour Organization
(D) None of the above

Consider the following pairs :

Craft Heritage of
1. Kangra Himachal
paintings Pradesh
2. Kishengarh Tamil Nadu
painting

Which of the pairs given above is/are
correctly matched ?

(A) 2only

(B) 1only

(C) Both 1 and 2

(D) None of the above

6. What is ‘SAFTA’ of SAARC countries

stands for ?

(A) South American Free Trade Area
(B) South African Free Trade Area
(C) South Asian Free Trade Area

(D) None of the above

What is flourimeter, which was recently
developed by Raja Ramanna Centre
for advanced technology a unit of
Department of Atomic Energy ?

(A) To measure traces of mercury in
the water

(B) To measure traces of lead content
in the water

(C) To measure traces of uranium in
the water

(D) None of the above

What is the main objective of Project
Dhoop launched by Food Safety and
Standard Authority of India (FSSAI) ?

(A) To reduce iodine deficiency in
adolescents

(B) To reduce iron deficiency in childs

(C) To reduce Vitamin D deficiencies
in Delhi schools

(D) None of the above

What is “Helina”, which was recently test

fired at the Pokhran range in Rajasthan ?

(A) Helicopter Launched Antitank
Missile

(B) Helicopter Series of HAL

(C) Interceptor Missile

(D) None of the above
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1.

12.

13.

14.

15

Mahayana is a sect of
(A) Buddhism

(B) Jainism

(C) Sikkhism

(D) None of the above

India has never hosted which of the
following sports event till date ?

(A) Asian Games

(B) Commonwealth Games
(C) Olympic Games

(D) None of the above

What is UNHCR of United Nation
Organisation Stands for ?

(A) United Nation High Commissioner
for Refugees

(B) United Nation High Commissioner
for Religious Minorities

(C) United Nation High Commissioner
for Regional Cooperation

(D) None of the above

in which one of the following States of
India Shoolpaneshwar wildlife sanctuary
is located ?
(A) Gujarat
(C) Kerala

(B) Maharashtra
(D) Karnataka

Who is referred as father of Modern
Economics ?

(A) Amartya Sen

(B) Milton Friedman
(C) Adam Smith

(D) None of the above

Daily Mail is a national newspaper of
which one of the following countries ?

(A) UK

(B) China

(C) Russia

(D) None of the above

16.

kT

18.

19.

20.

MOSSAD is a Intelligence agency of
which one of the following countries ?

(A) Cuba
(B) Japan
(C) lsrael
(D) None of the above

“Christ the Redeemer” one of the
7 wonders of Medieval Modem World
located in which of the following country ?
(A) France

(B) Brazil

(C) Egypt

(D) China

“On Contradiction” a book written by

(A) Hu Jintao

(B) Mao Tse-Tung
(C) XiJinping

(D) Jiang Zemin

Who is the first Indian women to receive
Bharat Ratna award ?

(A) Aruna Asaf Ali
(B) Indira Gandhi
(C) Mother Teresa
(D) M.S. Subbulakshmi

What is the state animal of Telangana ?
(A) Gaur

(B) Indian Giant Squirrel

(C) Deer

(D) None of the above
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22.

23.

24,

if) General Intelligence and Reasoning Ability

Choose the correct alternative that will
continue the same pattern and replace
the question mark in the series.
4,7,12,19, 28, ?

(A) 30

(B) 36

(C) 39

(D) 49

Choose the missing term out of the
given alternatives. PERPENDICULAR,
ERPENDICULA, RPENDICUL, ?

(A) PENDICUL
(B) PENDIC
(C) ENDIC
(D) None of these

Traveller : Journey : : Sailor : ?
(A) Water

(B) Ship

(C) Voyage

(D) Crew

Which of the following is the same as
Emancipate, Free, Release ?

(A) Liberate
(B) Quit

(C) Pardon
(D) Ignore

25.

26.

27.

If ROAST s coded as PQYUR in a
certain language, then how will SLOPPY
be coded in that language ?

(A) MRNAQN
(B) NRMNQA
(C) QNMRNA
(D) RANNMQ

Pointing to a photograph Arun said,
“She is the mother of my son’s wife’s
daughter”. How is Arun related to the
lady ?

(A) Uncle

(B) Cousin

(C) Daughter-in-law

(D) None of these

Examine the following relationships
among members of a family of six
persons—A, B, C, D, E and F.
1. The number of males equals that
of females.
2. AandE are sons of F.
3. Dis the mother of two, one boy and
one girl.
4. Bis the son of A.

5. There is one married couple in the
family at present.

Which one of the following inferences
can be drawn from the above ?

(A) A, Band C are all females
(B) A is the husband of D

(C) D is the grand daughter of F
(D) E and F are children of D
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ii) | gigwn qen aifhe arEm
e foehed Y S @HH Yo 1 5 @ | 25 3 us 9rH ROAST #1 %2 PQYURR,
3 sgen 7 WA fog =1 wfarafua = | 39 99T § SLOPPY i foha weapr fora ?
4,7,12,19, 28, ? (A) MRNAQN
(A) 30 (B) NRMNQA
0 » pre——
(C) 39 ®
(D) 49 26. U IS shl 3R I L §T 30 4
Fe1, “F8 W I h I H A Ar |
few mu fawedi 4 @ g wse ghw | 3T 3 37Ta © T e wefem & 7
PERPENDICULAR, ERPENDICULA, (A) =T
RPENDICUL, ? (B) s
(A) PENDICUL ©) T
(B) PENDIC (D) T @ F1S e
(C) ENDIC e | e
27. ®: ~A,B,C,D EINFF s
) TR TR = T
1. ST 3R wieeret < g aE 2 |
A A : M - 2 2. ASNE FHaRE
(A) 5/ 3. D 3=, Uk eigeh 311 Uk oigehl il
(B) SETSl TR |
(C) St 4. BAF R
(D) =TeTah g

frfafaa # @ F19-91 Emancipate,
Free, Release F @AM & 7

(A) Liberate

(B) Quit

(C) Pardon

(D) Ignore

5. 39 @9 TRER | U fanfed e 2 |

I5q ¥ frfafieas 4 @ sH-a1 freed
e ST Eswar 2 ?

(A) A, B 3t C ¥t nfged 2
(B) A, DHIUfG2

(C) D, Fefidnh2

(D) E3NF, D% &= ¢



MKG-XXI/TECHMSW/1T/01

28.

20:

30.

On a shelf are placed six volumes side-
by-side labelled A, B, C, D, E and F.
B, C, E, F have green covers while
others have yellow covers. A, D, B are
new volumes while the rest are old
volumes. A, C, B are law reports while
the rest are medical extracts. Which two
volumes are old medical extracts and
have green covers ?

(A) B,C (B) C,D
(C) C,E D) E.F

A, B, C and D are to be seated in a row.
But C and D cannot be together. Also B
cannot be at the third place. If A is not
at the third place, then C has which of
the following options ?

(A) The first place only

(B) The third place only

(C) The first and third place only

(D) None of these

Six filims =P, Q, R, S, Tand U are to
be released on consecutive Fridays.
The schedule of the release is to
be in accordance with the following
conditions.

i. P must be released a week before T.

ii. Rmustnotbe released immediately
after the first release.

ii. Q must be released on the Friday
following the Friday on which U is
released.

iv. S must be released on fifth Friday
and should not be immediately
preceeded by Q.

v. T must not be released in the

last.
Which of the following films preceeded T ?
(A) P (B) Q
(C) S (D) U

31.

32.

33.

34.

A OO0 O O O O

| am standing at the centre of a circular

field. | go down south to the edge of the
field and then turning left | walk along
the boundary of the field equal to three-
eighths of its length. Then | turn west
and go right across to the opposite point
on the boundary. In which direction am
| from the starting point ?

(A) North-west  (B) North

(C) South-west (D) West

A walks 10 metres in front and 10 metres
to the right. Then every time turning to
his left, he walks 5, 15 and 15 metres
respectively. How far is he now from his
starting point ?

(A) 5 metres

(B) 10 metres

(C) 15 metres

(D) 20 metres

If the letters in the word UNDERTAKING
are rearranged in the alphabetical order,
which one will be in the middle in order
after the rearrangement ?

(A) G
(B) I
(C) K
(D) N

How many even numbers are there in
the following sequence of numbers each
of which is immediately followed by an
odd number as well as immediately
preceeded by an even number ?
867689832753422355228119
(A) One

(B) Three

(C) Five

(D) Four
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(A) B,C (8) C,D
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(C) Fadt ygm 3 g w2

(D) T8 | FI$ &
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i. P, T U ade @ el et =i |

ii. R, v&eh feftst % gqia o et 7=
e = |

iii. Q, U feftst 3 g a1e aret A
i fefter g1 =fe |

iv. S ufed yEra w1 frefis Bt =fee
3t Q & gid Tedt 7 &t = |

v. T 3@ 4 fiefer 7&f 2 =g |

H-dl fhen T 8 g fefist gt ?
(A) P (B) Q
€) S (D) U

31.

32.

33.
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(A) SWafsm (B) 3™

(C) sfemrufem (D) ufvm

A 10 Hiex gme 3 10 Hiex 2 Jeran ® |
o yois 9 74 a0 g 98 FHA:
5,159 15 Wil 9ol ¢ | 98 39 A=
fog & fram g ?

(A) 5 HR

(B) 104

(C) 15X

(D) 20 Htex

Ife 3¢ UNDERTAKING & &0 i
FuigTelt & w0 § Hedaferd fHan s at
F-91 959 1 21T 7

(A) G

(B) |

(C) K

(D) N

ffeifiad @@ w0 ° feah a9 gensi
¥ qid 918 UF a9 T o gid ved
T GE § 7
86768932753422355228119
(A) T

(B) &

(C) U=

(D) =R
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35.

36.

37.
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Rohith is seventeenth from the left
end of a row of 29 boys and Karan is
seventeenth from the right end in the
same row. How many boys are there
between them in the row ?

(A) 3

(B) 5

(C) 6

(D) Data inadequate

In a town, 65% people watched

the news on television, 40% read

a newspaper and 25% read a
newspaper and watched the news on
television also. What percent of the
people neither watched the news on
television nor read a newspaper ?
(A) 5

(B) 10

(C) 15

(D) 20

No house is school. All

colleges are schools. All

schools are teachers.

Conclusions : |. No house is a teacher.

. All colleges are
teachers.

I1l. Some teachers are not
houses.

IV. No college is house.

(A) None follows

(B) Only either | or IV follows
(C) Only Il, Il and IV follows
(D) Ali follow

Statements :

38.

39.

40.

Statement : Isbuying things oninstaliments
profitable to the customer ?
Arguments : |. Yes, he has to pay less.
Il. No, paying instalments

upsets the family
budget.

(A) -Only argument | is strong
(B) Only argument Il is strong
(C) Either | or Il is strong

(D) Neither I nor Il is strong

If it was Saturday on December 17,
1899, then what will be the day on
December 22, 1901 ?

(A) Friday

(B) Saturday
(C) Sunday
(D) Monday

A class starts at 10:00 a.m. lasts till
1:27 p.m. Four periods are held during
this interval. After every period, 5 min.
rest are given to the students. The exact
duration of each period is

(A) 40 min.

(B) 48 min.

(C) 51 min.

(D) 53 min.
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35.
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(A) 3

(B) 5

(C) 6

(D) 3AfHe g
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e B | anft fomers s € |
Ted ;| IS T TF 1A AL © |
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38.

39.

40.
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(A) HaR

(B) WHaR

(C) femm

(D) HHaR

T FET 10:00 91 Ta: IR 2l § 3
1:27 QI9eX Ged Bl & [ 39 a0 H 91
difere @ & | el i e 5 e
%1 Jraepry faenfelat = fer ST @ | e
ifeare Y g srafy 2

(A) 40 Fime

(B) 48 fae

(C) 51 fie

(D) 53 e
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41.

42.

43.

45.
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iii) Arithmetical and Numerical Ability

An A.P. consists of 15 terms. The middle
term is 20. The sum of_ 15termsis

(A) 250
(B) 300
(C) 200
(D) 225

An alloy contains copper and zinc in the
ratio 9 : 4. The zinc required to melt with
24 kg of copper is

2 1
0= =
(A) 10 = kg (B) 103 kg

©) 9§ kg (D) 9kg

The ages of two persons are in the ratio
5:7. Eighteen years ago their ages were
in the ratio 8:13, their present ages (in
years) are

(A) 50, 70
(B) 70,50
(C) 40,56
(D) None of these

If x = 3)6 + 3 /3 then the value of
3x3 - 9x is

(A) 3

B) 9

(C) 12

(D) 10

A motor boat whose speed is 18 km/h in
still water takes 1 hour more to go 24 km
upstream than fo return downstream to the
same spot. The speed of the stream is

(A) 6 km/hr
(B) 54 km/hr
(C) 9 km/hr
(D) None of these

46.

47.

48.

49.

50.

If the roots of the equation x2 + x + r=0
are o. and B and a3 + B3 = -6 then the
value of ris

-0 7
A 5 ®) 3
-4
© - ©) 1

In a survey of 1500 families, it was found
that 115 families take neither coffee
nor tea. 1000 families take coffee,
450 families take tea. The number of
families which take coffee only is

(A) 865 (B) 935

(C) 385 (D) 65

Six bells toll in the intervals of 2s, 4s,
6s, 8s, 10s and 12s respectively. In
30 minutes, the number of times they
toll together is (s = second)

(A) 16 times

(B) 12 times

(C) 15times

(D) None of these

The ages of all boys in a group are
in A.P. with the common difference 3
months. If the youngest boy in the group
is 12 years old and sum of ages of all
boys in the group is 238 years, then the
number of boys in the group is

(A) 13 (B) 23

(C) 17 (D) None of these

If the sum of interests on Rs. 500 at 6%
S.I. for a certain period and Rs. 600
at 9% for 2 more years is Rs. 360.
Then the period for which interest was
calculated on Rs. 600 is

(A) S5yrs (B) 3yrs

(C) 2yrs (D) None of these
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iii) STETUTA G U HEAeH arEa

TS GHTR A0 § 1595 8 | A9 92 20 % |

15 9&i =1 917 8
(A) 250
(B) 300
(C) 200
(D) 225

s fzrarg H qia STR SR 9 : 4 3 ST
T 2 | 24 form afe % gro fusen & fog
Fifed el &

(A) 10%17%"

(C) 9%%&1

1
(B) 1051%551
(D) 9 e

31 AT Sl TG T I 5:7 8 | 18 T
ud 3Tl AR F I 8:13 9T, IH!

FauE 3y (Iut H) R

(A) 50,70

(B) 70,50

(C) 40,56

(D) T @ g T=
Hﬁx=3}/3+3_%’ﬁ3x3—9x$rm%
(A) 3

(B) 9

(C) 12

(D) 10

U i s e i v ser i 18 fedt /s
2 38 24 forft om0 & ot g & g

o @ we= @ 1 e Ao odi R | °w
i fe 2

(A) 6 TRt /=

(B) 54 Terdi /v

() 9 fordt/=a

(D) H § F5E el

46.

47.

48.

49.

50.

TR 52 + X + r = 0% YA o 3 & 31
o3+p3=—6,d rFMAFR

-5

® ® -
_4

© 3 ©) 1

1500 @Rl & Ha&or §, I8 T T 8
% 115 gfar 3 5/ did & 3 %6 1 1000
gftar Fif fiq 8, 450 sfam s a2 |

39 ufEard & gen S Fad Fd 9 @
(A) 865 (B) 935
(C) 385 (D) 65

6 Hfedl FAM: 2s, 4s, 65, 8s, 10s I

12s % 37U W a9l € | 30 =i o, @
AR UF T1Y T (s = WFHE) |

(A) 1691

(B) 12 ¥R

(C) 154K

(D) 39 | HIg T

T 27t § U T | w4ft e Fi oy

3R HEWI AR H 2 | e T § oaw B

Y 12 99 3R TR ¥ et ST il TG+

T1T 238 =Y 2, ol AR A T I T B

(A) 13 (B) 23

©) 17 (D) T & =g e

%. 500 1 6% HILRU =4Ts U fAfved
safy & foru 3l %. 600 F1 9% |TERY
1 394 e 299 & foru, 291 #wram
%. 3602 | 98 g9a 5@ 91 %. 600 1 =
uftepfera foram mar 2
(A) 58

(C) 298

(B) 399
(D) 34 & 1S T
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51.

52.

53.

54.

55.
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The sides of an equilateral triangle are
shortened by 12 units, 13 units and 14 units
respectively and a right angled triangle
is formed. The side of the equilateral
triangle is

(A) 17 units

(B) 16 units .
(C) 15 units

(D) None of these

If salary of P is 25% lower than that of Q
and salary of R is 20% higher than that
of Q, the ratio of salary of R and P will
be

(A) 5:8
(C) 5:3

(B) 8:5
(D) 3:5

Two taps can fill a cistern separately in
24 minutes and 40 minutes respectively
and a drain pipe can drain off 30 litres
per minute. If all 3 pipes are opened
simultaneously, the cistern fills in
60 minutes. The capacity of the cistern is
(A) 500 litres

(B) 750 litres

(C) 600 litres

(D) None of these

A train 100 metres long is running at a
speed of 30 kmph. The time taken by it
to pass a bridge of 80 metres long is
(A) 20 sec. (B) 30 sec.

(C) 21.6 sec. (D) 1 min.

How many kgs of pure groundnut oil
should be added to 20 kgs of 80%
pure groundnut oil, so that the resulting
mixture contains 95% pure groundnut oil ?
(A) 50kg (B) 60 kg

(C) 100 kg (D) None of these

56.

57 o

58.

59.

60.

The age of father is twice the square of
the age of his son. Eight years hence,
the age of the father will be 4 years
more than 3 times the age of his son.
The present age of the father is

(A) 48 yrs (B) 32yrs

(C) 36yrs (D) None of these

An aeroplane flies once around a square
whose side is 100 km long, at 100 kmph
for the first side, second at 200 kmph
third at 300 kmph and 4t at 400 kmph.
The average speed of the aeroplane in
its flight along the square will be

(A) 180 kmph (B). 192 kmph

(C) 250 kmph (D) None of these

By what percentage use of milk be
increased if the price of milk is decreased
by 20%, so that the expenditure remains
unchanged ?
(A) 25%
(C) 15.5%

(B) 10%
(D) None of these

Mr. Jay sold a bag at a loss of 7%. Had
he been able to sell it at a gain of 9%,
it would have fetched him Rs. 64 more.
The cost price of the bag is

(A) Rs. 800 (B) Rs. 500

(C) Rs. 400 (D) None of these

A right circular cone is standing on a
hemisphere with both their radii being
equal to 1 cm and the height of the cone
is equal to its radius. The volume of this
solid formed will be

(A) g cm3 (B) ncm?d

(C) %n cm?3 (D) None of these
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12 T3, 13 THTS 37 14 3HE w1 faan
ST & 3R U wEh e ST R |
g By 1 oo ®

(A) 17 318

(B) 163%r1E

(C) 153#T

(D) ¥ § i3 A&

P 1 94 Q § 25% FH & 3 R 1 3d4
Q ¥ 20% AfeF 2 | R 31 P & da &

ST E
(A) 5:8 (B) 8:5
(C) 5:8 (D) 3:5

3 94 UF B A 24 e 3t
40 Tore 9 1 9 8 o1 us fea =i
34 30 i ufafie d @t wr et @ | afe
A= urgy U mrg Eie fRu S €, 91 60 fie
H B WS © | 2 3 e 2

(A) 500 X

(B) 750 &fTex

(C) 600 wfiex

(D) 3 ¥ Fig &I

100 Hrex &=ft ush Temel 30 ft /o it
fd o e @ 2 | 80 Wit & g H IR
4 | foran T aua 2

(A) 20UFe (B) 30 HFs

(C) 216T&HE (D) 1fye

80% Y8 HHeA! at o 20 foram # fohem
Tor Y8 ettt e siTe 1o ufomdt
a0 95% 1% {TTohel! 1 e B S 2

(A) 50 fm (B) 60 faFm

(C) 100fFm (D) T @ FiE 7

56.

57.

58.

59.

60.
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T <t sTg T Y F I FT AR
gy are, fa =i 311g T i S1rg o o 7o
¥ 494 sftre vl | foan it adee g 2

(A) 4899 (B) 32a9
(C) 3pad (D) =7 & #1E 7
TS g4 STErS 100 et et et v

1 o A IR IS W2 | Tl I T 100
foreft /=21, g&dt s T 200 ford /=0,
et sgsm 7t 300 fereft /erer SR =ieft s
W 400 fRfi Ha i nfa @ 3ga e | T W
3eM % 3 3ftga nifd Bt

(A) 180 fFi/=er (B) 192 foret/wa

(C) 250 fersfi/=er (D) 398 & =g T

AT 301 3 e 20% S faT ST el = S
fopm vty se o fF e Tm E w2

(A) 25% (B) 10%

(C) 15.5% (D) =78 ® =S e

oft. S F Tk A 7% ki B W o=, Al
I=H 38 9% SATH T A= 21 a1 39 5. 64
aﬂtﬁqa?flénmamq@%

(A) %. 800 (B) %. 500

(C) %. 400 (D) ZH 1S T
U TV Y1 U STeRTe 0§ 3R
i s 1 Teft o o @ o7 v At I
Torn o SR | 36 319 S TR Bl
(A) gi:\=ﬁ3 (B) ~ T3

(C) %nw (D) T & = T
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

&= v s Ay B
Fforfts o @ Fndt sl o A ? | 66.
(A) w=RER
(B) = Ef Delelde o
(C) fawniwfy
(D) 3twy |ia
i?ﬁjﬁ’a—_—ﬁgé;m 67. m‘ammé’rdé#;s,s,maaagwﬁ
5 o) wmﬂéa,s,a,sﬁma}‘aﬁﬁaﬁ
I FH AT o, %, F, FE I E G
g1 : 9 39 ofer ed 2 |
(A) (B) Fm A afs
(C) i (D) s ®
W AT R TR A o = (c) o
JEE | (D) =
(A) T
(B) T 0 ==
(C) HFHe 3R 1FAF aHI (A) =
(D) HFHF TR TFHF a1 ot T (B) I
i @ P Fe a7 o i
(A) = faufd =4 wrw § witEs D) ==
TS % g1y AT 2 | .
o e S ol D 69. MYR AT AT U T
TS o WY AT R | il
©) = foufa srsror F10 § Rl (A) wregond
vare I % e A R | (B) e
(D) wr fawufe sfesw e d asf| (C) =d
TaTe G A1Y ST R | D)
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70.

71.

i

73.

74.

b

TR 1 Eifaees
(A) TH + I
(B) TH + 300
(C) TH + 3
(D) THT + 07

TTH FIET FTR ST e R 7

(A) Hugarg

(B) F IR

(C) UeTErm

(D) TG T T

ST FET 9T qEeTed U e ® 7
(A) Tomem & fea o =2 g s |

(B) STISTSR YHTE R hraa foredt et |

(C) Toa 9 7 S |
(D) T ST & e € |

3 Y1521 § ShiAET Y1ee Afadarash Ga g ¢
(A) wemT (B) wUfS AMIg.
(C) wedt (D) T 3R wE

FS GAE < @ ¥ W AN H T HAE
A 2 7

75.

76.

it.

78.

79.

80.
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3 G A S aeE A & 7
(A) (B) H@n
(C) (D) W

Y ¥15] 1 FgF €9 ©
(A) <t (B) &
(C) =fad (D) =t

Ferterfiga & & o vreg 8 3Rt 0 =1 9En
T et ?

(A) TEITH

(B) e

(C) R

(D) wfaer

“THF Je I5q
ISR 2 |
(A) F=faE

(C) wgsiife

g+ g =
(A) gyfw
(B) gy«
(C) g
(D) gfe

A0 @ ShIET I1eg 37eTT AL & 7
(A) fa=

(B) 3

(C) T

(D) 3

HATH &l

(B) dcges
(D) &=



MKG-XXI/TECHMSW/1T/01

AR OO A

v) English Language and Comprehension

JR wrEn SR =Y

Identify the figure of speech-in the following
sentences.

81. “Life is a bitter sweet pill”.
(A) lrony
(B) Pun
(C) Antithesis
(D) Oxymoron

82. “She wept oceans of tears”.
(A) Simile

(B) Metaphor

(C) Hyperbole

(D) Interrogation

Select the correct proverb for the given
meaning.

83. ‘To be in a dilemma’.
(A) Cry over spilt milk
(B) To be between the devil and the
deep sea
(C) Out of sight out of mind
(D) None of the above

84. ‘There is a cause for rumours to
come up'.

(A) There is no smoke without fire
(B) All that glitters is not gold

(C) Birds of a feather flock together
(D) None of the above

Select appropriate preposition to fill in the
blanks.

85. Leela does all her work

great care.
(A) in (B) of
(C) with (D) for

86.

| set the four pairs out a row.

(A) on
(B) at
(C) by
(D) in

Fill in the blanks with appropriate articles.

87. We long for
(A) the
(B) a
(C) an
(D) not needed

peace.

88. She took a degree from
University of Delhi.

(A) the
(B) an
(C) a
(D) not needed

Choose the sentence which is grammatically
wrong.

89. (A) Neither Suma nor her brothers

have come

Neither her brother nor Suma has
come

My trousers needs mending

I hung the wet clothes on a clothes
line

(B)

(©)
(D)

90. (A)
(B)
(€)

| have gone out yesterday

| eat breakfast every morning
You must practise speaking
English

(D) I asked him what he was doing
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Fill in the blanks using correct idiom from the
given option.

91.

92.

The people did not trust the boy
who

(A) Play a cat and mouse game
(B) Ate like a horse

(C) Cried wolf all the time

(D) Received the lions share

The hungry children for the

food counter.

(A) made a beeline

(B) made a bee in her bonnet
(C) made birds eye view

(D) none of the above

Choose correct negative sentence for the given
affirmative.

93.

94.

‘Krish is braver than him’.

(A) He is not braver than Krish
(B) He is not so brave as Krish
(C) He is braver than Krish

(D) None of the above

‘Man is mortal’.

(A) Man is immortal

(B) Man is not mortal
(C) Man is not immortal
(D) None of the above

Select correct indirect form of the given direct
speech.

95.

-19.

| said to him “Save today for a better

tomorrow”.

(A) | ordered him he must save today
for a better tomorrow

(B) 1told him to save today for a better
tomorrow

(C) | advised him to save today for a
better tomorrow

(D) None of the above

96.

MKG-XXI/TECHMSW/1T/01

The teacher said, “Tomorrow is a
holiday”.

(A) The teacher told that tomorrow will
be a holiday

The teacher informed us that the
next day was a holiday

The teacher informed that tomorrow
will be a holiday

The teacher said that tomorrow was
a holiday

(B)
©)

(D)

Select wrongly spelt word.

97.

98.

(A) GALLENT
(B) STAMMER
(C) FLATTERY
(D) REVERIE

(A) INTEGUMENT

(B) CONSCIENTIOUSLY
(C) TREMULOUS

(D) TENAMENT

Select the synonym of the word in capital.

99.

100.

ELATED
(A) Respected
(B) Overjoyed
(C) Kind
(D) Common

VICES

(A) Morality

(B) Virtue

(C) Sins

(D) None of the above
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101.

102.

103.

104.

105.
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SECTION-B

Post Specific Subject-Related Questions

Systems theory was founded by

(A) Ludwig von B.

(B) Emile Durkheim

(C) Auguste Comte

(D) Harriet Martineau

Who called the process of social
learning modelling and gave four

conditions required for a person to
successfully model others behaviour ?

(A) B.F. Skinner

(B) Albert Bandura

(C) Ivan Pavlov
)

(D) Carl Jung

Conflict theory is appropriate for
understanding conflict and

(A) Cohesion

(B)
(C)
(D)

Resolution
Coercion
None of the above
sees a near harmony of
purpose from norms and values.
(A) Communitarianism
(B)
(C) Socialism
(D)

Futilitarianism

Structural functionalism

According to Mead, self develops in a

series of stages.
(A) Three (B) Four
(C) Five (D) Six

106.

107.

108.

109.

110.

The mind or mental component of man
emerges out of

(A) Symbolic communication

(B) Human communication

(C) Mathematical communication
(D) None of the above

is a situation where an
individual has trouble determining
which role he/she should assume.

(A) Role strain
(B) Role confusion
(C) Role conflict
(D) Role distance

Social learning may affect behaviour in
the following ways

(A) Can increase or decrease similar
behaviours

Can encourage previously forbidden
behaviours

Teaches new behaviours
All of the above

(B)

(®)
(D)

AccordingtoMax Weber
is the science which attempts the
interpretive understanding of social
action.

(A) Sociology

(B) Psychology

(C) Social Work

(D) Anthropology

Formalistic school has extremely
the scope of sociology.

(A) Broadened

(B) Narrowed

(C) Unchanged

(D) None of the above
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M-
ez Tafafres fawg - dasft ua

JunTelt fargia % JordT i ®
(A) Tefam af7 .

(B) ufHfer =fhm

(C) 3T HI

(D) e mfe

g 3Tegas =t wisran =t giefem fraa
FET I AT % FIER Hl FHAAAF
o % foTu, e o3fa B Fifea IR v & 7
(A) ot uh. fepT

(B) e SgU

(C) zam YaaE

(D) ret ST

Hausg fagia mave 3k Bl
T & foe 3uga 2 |

(A) I

(B) THTEH

(C) IegEdl

(D) 3% H & HIS T

ey 3R gea U 3eva o e
HeuTE @A @ |

(A) HHCHEETq

(B) IqFITaTETg

(C) THINETg

(D) TTEVTd SATERTEhdT

g % TR, @ 1 fasa U
FI uF @ H AT R |

(A) @ (B) IR

(C) dr= (D) B:

106.

107.

108.

109.

110.
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S 1 AT A1 AR S
YIFATE |

(A) Hiehfass U

(B) THE T

(C) TivTdig oW

(D) 3 H § I3 TEl

T T & 51a O 03 i T8
fuffe @ § e 28 o R 6 aw
I~ Jffe e |
(A) T o
(B) Hfweh1 3o
(C) Yfireh1 Hase
(D) w1 <

WIS 376999 Faer &1 efaiad

el & yarfaa o @

(A) TUH SEER S S I1 5T Tehdl &

B) Trse yfaefua sraeni #i Tg@ g
Hehal 2

(C) T4 =¥=Er fa@m 2

(D) I g

g Ja % AN Iz fagm 2
S ETHTSTeR f3RaT—shelTd o ST 99 g
1 TATH T 2

(A) FETISITS

(B) wAIfas=

(C) TmIf® Hrd

(D) HHafaRH

Hfeare faamam 3 aasvre & yaeH
et F e |

(A) T

(B) @pfard

(C) smftafda

(D) 3% § § HIE T
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111,

112.

113.

114.

115.

116.
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Who among the following is not an
Indian sociologist ?

(A) K.M. Kapadia
(B) Ramakrishna Mukherjee
(C) T.N.Madan
(D) Janaki Ammal

Most of the functionalist theories of
social stratification are from

(A) Australia (B) Canada
(C) England (D) America

A distinction was drawn between the
prepositional and dimensionalistic
theory in sociology by

(A) G. Dalton (B) Hans Zetterberg
(C) Pierre Vilar (D) Karl Marx

approach does not recognise
the division between social values and
social facts.

(A) Dialectical
(C) Functional

(B) Sociological
(D) Structural

was Weber’s contemporary
and co-founder of German sociological
society.
(A) Ulrich Beck
(B) George Simmel
(C) Arnold Gehlen
(D) Karl Marx

emerged as an alternative
vision of a worker’'s paradise in which
wealth was equitably distributed.

(A) Socialism

(B) Functionalism
(C) Structuralism
(D) Communalism

117.

118.

119.

120.

121.

D0 O 00 0 0

Groups generally composed of members
with severe emotional, behavioural and
personal problems are called

(A) Task groups
(B) Encounter groups
(C) Treatment groups
(D) Social groups

was the work of Simmel
concerned with emergence of a money
economy in the modern world.

(A) Philosophy of money
(B) Philosophy of change
(C) Philosophy of life

(D) Philosophy of education

Personality is derived from the Latin
word “Persona” which means

(A) Mask (B) Reflection
(C) Action (D) Power

The three-component theory of
stratification was developed by

(A) Herbert Spencer
(B) Henry Bergson
(C) Max Weber

(D) John Stuart Mill

was the first to suggest
planning as a way to run the economy.

(A) Charles Fourier
(B) Robert Owen
(C) Saint-Simon
(D) Louis Blanc
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frafafas & @ - vyl
gaTeTEt g € 7

(A) . U, HaTeAt

(B) TS T

(C) &. w. "eH

(D) SHehl 3

T G % ST sERTies Rgid
AT |

(A) JFefermr  (B) TS

(C) 3wie (D) IR

quTSETE § ggafis 3 TeeErd fagr
EACIE RS ST ok |
(A) St gfeed  (B) W et

() Tt faem (D) et T

Sfe amwifee qeat o
gmTra® 9l o s fawee &5 T8
ggdMEdr |

(A) ggIeh (B) HHTSETE!
(C) =@gRa™l (D) gl

Je T GHHITAS A STHA
FHTSIETE THS % TEYOaT & |
(A) A qH
(B) st faier
(C) IHIeS T
(D) et HTEE

FTH 3 T o Ush Sehicush
gfeeanivr o &9 # 3w e guf &1 aum
foraor o |
(A) |HTSETG
(B) SHTEEIRERATETS
(C) BTG
(D) FHERET

.

118.
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121.
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FUq WIgF, AEEIE I dafaas
RIS FTc! HEE g ST 51 T8
_ wFEdme |

(A) e EE

(B) HeWE WE

_  feweweangte faw
Y AT o ITH § TS FHE o |
(A) & %I g3

(B) Uit @1 g¥H

(C) e = g3

(D) farerr =1 g9

TAfed Afea wree ggEr | frepen 2
IELEIRC R

(A) FEw (B) wIEdH
(C) o (D) wfed
Tqfee =1 e fagma
a0 foresflra fobam = |
(A) B TR
(B) &l e
(C) Teg at
(D) = &3 faw
3 TEe! a1 ST @
AT FA T U qLH FAHT |
(A) ITed HiTER
(B) Tw¢ 3aH
(C) He |

(D) T3H =Th
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122.

123.
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The new sociology grew mainly because
of the work of

(A) Talcott ‘

(B) Rosa Luxemburg

(C) C. Wright Mills

(D) W. G. Runciman

The theoretical growth of sociology in

India has been deeply influenced by the
west particularly by

(A) UK (B) USA
(C) UKand USA (D) Brazil
The term applies

to everything an individual does, feels
or thinks.

(A) Attitude
(C) Personality

(B) Behaviour
(D) Perception
is anything that may assume
different numerical values.
(A) Participant (B) Variable
(C) Respondent (D) Construct
The is the part the body most
intimately involves in behaviour.
(A) Lymphatic system
(B) Endocrine system
(C) Nervous system
(D) Integumentary system
Which one of the following is not the
core area of psychology ?
(A) Affect

(C) Connation

(B) Cognition
(D) Control

128.

129.

130.

131.

132.
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Which one of the following are present
in an individual right from the time of
birth ?

(A) Disgust

(B) Fear

(C) Distress

(D) Al of the above

The first step in a time management
process is for individual group members
to set

(A) Personal goals
(B) Professional goals
(C) Constructive goals
(D) Life goals

Theory which emphasisesthat individuals
identify emotions by observing our
environment and comparing ourselves
with others

(A) Cannon-Bard theory
(B) James-Lange theory
(C) Schachter-Singer theory
(D) Lazarus Appraisal theory

The aptitude tests do not measure the
motivation.

(A) Off the job

(B) On the job

(C) Achievement

(D) None of the above

A procedure designed to generate ideas
in quantity through the full participation
of all group members is called

(A) Group discussion

(B) Brainstorming

(C) Debate

(D) Focus group
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One of the following is not a barrier to
effective problem solving

(A) Poor communication
(B) Lack of skills
(C) Lack of money

(D) Lack of motivation

Person others blame for some problem,
regardless of whether she or he is really
at fault is termed as

(A) Cliques (B) Dominant
(C) Scapegoat (D) Submissive

One of the following is not a guideline
for leading task groups

(A) Orienting members to the group
(B) Size of the group

(C) Selecting potential members

(

D) Identifying and defining the
problem

The government of India adopted the
National Policy for the children in the
year

(A) 1972
(C) 1974

(B) 1973
(D) 1975

Theterm paradigm comes fromthe Greek
word ‘paradeigma’ which translates as

(A) Model

(B) Pattern

(C) Example

(D) All of the above

Those who are emotionally invested in
their jobs are called

(A) Committed employees
(B) Engaged employees
(C) Satisfied employees
(D) Faithful employees

139.

140.
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142.

143.

144.

O 0

Name the model that was prominently
used during the industrial revolution
and stated how an organisation should
function.

(A) The Custodial Model

(B) The Scientific Management
Model
(C)

The Autocratic Model
(D) The Human Relations Model

has to do with people’s self
perceived competence and image.
(A) Self respect
(B) Self esteem
(C) Self discipline
(D) Self regard

Our values and way of life in the society
in this information era are strongly
influenced by

(A) Mass media (B) Peers
(C) Family (D) Society

One of the country given below has the
highest persons with disability in the
world

(A) Tanzania
(C) Canada

(B) India
(D) Russia

Social work interventions need to adopt
approach to deal with the
needs and difficulties of the elderly.

(A) Comprehensive
(B) Narrative
(C) Holistic
(D) Common

Aaron Beck’s cognitive therapy was
developed as a treatment for

(A) Anxiety (B) Neurosis
(C) Depression (D) Schizophrenia
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Sets of concepts to explain a
phenomenon is called

(A) Methodology (B) Models

(C) Theories (D) Approach

One of the proponent of the humanistic
school of thought is

(A) Sigmund Freud

(B)

(C) John B. Watson
(D)

Carl Rogers

William James

Structuralists used a procedure called

in order to understand how
an individual’s sensations produce
awareness of the world.

(A) Inspection (B) Introspection

(C) Observation (D) Interpretation

observation is to record the
behaviour of interest in the natural
environment of the individual.

(A) Participant (B) Naturalistic
(C) Involved (D) Systematic
One of the following is not a rating

scale which forms a valuable source of
obtaining observation data

(A) Category rating scale

(B) Numerical rating scale

(C) Graphic rating scale

(D) Archival rating scale

Descriptive statistics such as measures
of central tendency include

(A) Mean (B) Mode

(C) Median (D) All the above

151.

152.
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154.

185.

156.

One of the following is not a characteristic
of emotion

(A) Selectivity
(C) Variability

(B) Subijectivity
(D) Reliability

In which one of the following defence
mechanism the motive remains the
same but the goal object gets changed
or substituted with another object and
finds an output ?

(A) Rationalisation (B) Projection
(C) Displacement (D) Repression

The psychologist who developed the first
comprehensive modern trait theory

(A) Karen Horney
(B) Gordon Allport
(C) Carl Jung
(D) John Locke

The study of measurement of behaviour
and capacities mainly through the

development of psychological tests is
called

(A) Reasoning

(B) Recognition

(C) Psychometrics
(D) Psychodynamics

sampling is useful in studying
the psycho-social issues faced by
alcohol dependents.

(A) Accidental (B) Purposive
(C) Quota (D) Snow ball

One of the following is not a probability
method of sampling

(A) Simple random sampling
(B) Quota sampling

(C) Stratified random sampling
(D) Cluster sampling
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If a researcher wants to study social
interaction patterns of HIV/AIDS patients
but knows very little or nothing about
the phenomenon which of the following
research design would be appropriate ?
(A) Descriptive (B) Exploratory

(C) Experimental (D) Diagnostic

Which is the lowest and most simple
level of measurement ?

(A) Ordinal (B) Nominal

(C) Ratio (D) Interval

One of the phases through which task
groups tend to proceed when engaged
in decision making
(A) Conflict

(C) Value

One of the following is not a key
leadership attribute

(A) Ability to listen

(B) Ability to build effective teams
(C) Ability to retain good people
(D) Ability to sympathise

Social work as a profession helps
individuals, groups and

to help themselves and ultimately aims
at bringing social development.

(A) Families (B) Communities
(C) Society (D) Teams

(B) Communication
(D) Supervision

seeks to measure, explain
and sometimes change the behaviour
of humans.
(A) Psychology (B) Sociology
(C) Anthropology (D) Economics

are actions that individuals,
groups and organizations engage in as
a result of inputs which leads to certain
outcomes.
(A) Processes
(B) Programmes
(C) Policies
(D) None of the above
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Which one of the following is not a
contribution to social psychology ?

(A) Communication

(B) Group decision making
(C) Managing time

(D) Attitudinal change

Albert Ellis developed the

(A) Behaviour Therapy

(B) Rational-Emotive Therapy

(C) Humanistic Therapy

(D) Psychodynamic Therapy

The study of societies to learn about

human beings and their activities is
called

(A) Psychology (B) Sociology
(C) Anthropology (D) Physiology
Which one of the following is not an

United Nations identified principle of
working with the elderly ?

(A) Independence (B) Participation
(C) Care (D) Sympathy
has been defined as a web
of relationships.
(A) Family
(C) Society

(B) Community
(D) Culture

Children with disabilities in the age
group of 15-18 years are provided free
education under scheme.

(A) IEDC
(B) ICDS
(C) SSA
(D) None of the above
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Which one of the following is a
characteristic of Human Rights ?

(A) They are universal

(B) They are inalienable

(C) They are interrelated

(D) All of the above

The Human Rights Act in India was
passed in the year
(A) 1993

(C) 1988

(B) 1999
(D) 1983
The performance-enhancing effect of an

audience on your behaviour is known
as

(A) Social facilitation
(B) Social inhibition
(C) Social loafing

(D) None of the above

The term group dynamics was coined by
(A) Tschan (B) Kurt Lewin

(C) George Smith (D) Mc Grath
According to Carl Jung the two mental

processes that can classify / type people
as introverts and extroverts is

(A) Perception and feeling
(B) Perception and judgement
(C) Perception and thinking
(D) Perception and sensing
is the most significant
cognitive aspect of perception.
(A) Behaviour
(C) Feedback

(B) Interpretation
(D) Sensation

176.

177.
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The first HIV counselling and testing -
services were started in India in the
year ¥

(A) 1990 (B) 1994

(C) 1997 (D) 1999

One of the following is considered to
be a major approach to sustainable
development

(A) Comprehensive approach
(B) Integrated approach

(C) Universal approach

(D) Unified approach

The organisation which set up a sero-
surveillance in India in 1985 is

(A) ICSSR (B) ICMR
(C) WHO (D) UNAIDS

One of the following is not a principle of
social case work

(A) Individualisation
(B) Self determination
(C) Non acceptance
(D) Confidentiality

The process of separating any
phenomenon from all that is connected
with it is an act of

(A) Recognition
(C) Abstraction

(B) Compensation
(D) Concretisation

Social roles can be analysed mainly

along which of the following aspect ?

(A) The actions

(B) Expectations that govern the
actions

(C) The evaluation or assessment,

which is mainly of the performance

of tasks

(D) All the above
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is a basic and essential tool
of social case work practice.

(A) Listening (B) Knowing

(C) Understanding (D) Silence

One of the Guideline to be adopted for
effective listening is

(A) Eye contact

(B) Selective listening

(C) Being in an open place

(D) Questionnaire

A person is being perceived on the basis
of one trait. This is called

(A) Halo effect

(B) Pratfall effect

(C) Flynn effect

(D) Barnum effect

Which one of the following is a step in
testing a hypothesis ?

(A) Stating the research hypothesis
(B) Choosing a statistical test

(C) Reject or accept the hypothesis
(D) All of the above

Which one of the following is not a

suitable data collection tool for collecting
quantitative data ?

(A) Observation
(B) Interview schedule
(C) Questionnaire

(D) Indepth interview

187.

188.

189.

190.
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The major advantage of non-probability -
sampling is/are

(A) Convenience

(B) Economic

(C) Organized

(D) Convenience and economy

The features of the quantitative research
method is

(A) It is objective

(B) Itis speculative

(C) Itis soft

(D) Itis flexible

Uses of a research diary in carrying out
research

(A)

To help improve your time
management

(B)
(©)

As an aid to reflection

To provide ideas for future direction
of work

(D) All of the above
Identify the appropriate order of level of
analysis in qualitative research.

(A) Models, concept, theories,
hypothesis, methodology, method
and findings

(B) Concepts, models, hypothesis,
theories, methodology, method

and findings

(C) Hypothesis, theories, concepts,
models, methodology, method and

findings
(D)

Concepts, theories, models,
hypothesis, methodology, method

and findings
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THAT F H TH I9FF ATHST THAT
YT TR B 7

(A) TdaEm

(B) HI&TehI THI-HRIf

(C) weTaed

(D) TTETE HI&HR
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188.

189.

190.
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A-TTehan AT T T A1 B
(A) lgurEe

(B) @&

(C) @mfea

(D) gfagrHs 3 sFaw

uTETeH STgEeH faf w2
(A) & TES 8

(B) € HIUMHH 2

(C) &g 2

(D) & wrasfiet 2

FTHIH Fd THI T SEIH SR H

T AR |

(A) 3195 THY TSU ! I ° HgHEal
&

(B) WIEd" % Ush YT & &Y H

(C) et st sy femm 2q faam suwsy
HTH

(D) 3= ot

TTET STHIT H vy o T 1 30

FH T

(A) Hfed, Heheur, fagm, gftswesn,

(B) Hheud1, Aisd, TRepeur, figm,

(C) e, fagma, Toeuqn, Hisd,
faferomes, fafyr 3 ofceat

(D) Hewreuq1, fagia, uiew, uftmewn,
faftramen, fafar aft wftat
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191.

192.

193.

194.

195.

In quantitative research the researchers
can investigate the natural order which
include

(A) control

(B) measure

(C) experiment
(D) all of the above

refers to the degree of
consistency with which instances are
assigned to the same category by
different observers or by the same
observer in different occasions.

(A) Criterion validity
(B) Specificity
(C) Reliability
(D) Content validity

Existing literature in qualitative research
is useful

(A) To stimulate theoretical sensitivity

(B) To be used as supplementary
validation

To direct theoretical sampling
All of the above

(C)
(D)

Identify the appropriate principle in
training employees.

(A) Attitude (B) Expertise

(C) Reinforcement (D) Techniques

Off the job training methods are more
suitable for training

(A) New employees

(B) Junior executives
(C) Senior executives
(D) None of the above

196.

197.

198.

199.

200.

Orientation training is also called as

(A) Induction training

(B) Refresher training

(C) Job instruction training

(D) Coaching

A leader who wants to run the

organization all by himself is a

(A) Democratic leader

(B) Functional leader

(C) Creative

(D) Autocratic leader

Preliminary work is a part of

type of research.

(A) Quantitative research

(B) Qualitative research

(C) Ethnographic research

(D) Phenomenological research

Theoretical sampling is suitable for
type of research.

(A) Action research

(B) Formative research

(C) Qualitative research

(D) Exploratory research

Textual analysis in qualitative research

means

(A)

(B)

Understanding another culture

Understanding participants’
categories

(C) Understanding accuracy of

information

(D) None of the above
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(B) WM

(C) w&m
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T = e it ferft wafifa @ foeer
a1y g Foft 3 g fr= rdaes g
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(A) T e
(B) fafsrean
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(D) @At g
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(A) Bgifae Taeasiiear &1 Y& FH
(B) ITTH AYFV &% FY H TN HA
(C) Tgifoe THaTRtoT &I FEfm
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AT o W10 H 39ge faw
EEEHE L

(A) g (B) farsresmn
(C) Fem (D) ThATh
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(A) T HEARI

(B) Hfvg wrivEH

(C) afts3 FHrETTeT

(D) J%d # & HIE 78]
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I wiE +ff FEed 2|
(A) ST widreqor

(B) rw=ral wivteor

(C) w e wfsreo

(D) =hifem

TS 1 Sl U HSA QUi 370 AT Sl
e 2, 2
(A) HArhaiF a
(B) FEamEs I

(C) GSHTeHS

(D) TAHTSIE T
TRIE T SAHEH
FATE |

(A) TETHS FTHIH
(B) TV SFFHUH
(C) WrHa Sfq fasm |eei s a9
(D) uftgeaTeds JHIH

B EAL

Tgforeh TR TR o STEIH
g IUFH 2

(A) foman srgmam

(B) Twivmens qEam

(C) TUTEreYU SFHHH
(D) N IFHYH
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(A) 3 HEH(A Bl GHSAT
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Ieftgami & forg Agwgut svRe )
13. 38 qf&rs & 40 99 2|

13.

14.

15.

17.

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00O

Wrong Method

0®00

Wrong Method

@00

Correct Method
el Iole)
The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

14.

15.

16.

(it

18.

19.

00 OO0 O

fdw : 7% w9 s IR IR Y % 9
IR IT AU [oh HYF GIAE T E | TS g
H 37kt foReft Tk 1 T B S W9 o gE I
3 3UET HYA I T HL 3N TR IR ufm §
I AR @H A, B, C 31 D w1 et a1 sienn
Sie-is 9 ¥ Fer (@) F 2 | (GfReaftm
Iefigani & fau @ mersnr s g
et feben <)

TR Y % "M 3t 99 0 R sk 3
I ford | 9 A o P e B fifha # )
fermgifera a1 =1 Bt afiem i feam mran 2 )

OR0OO0OI0OTOOI0O®O0OI0O00

el F1 31 I A ar ferer % sw
fafa o =nfze |

Tedh U I Aol U & HEl IR | STl
wfea &em 39T A, B, C a1 D % Tieisn @™
I I (@) FET & | qfe 39 forelt wom & @
T ¥ ATYSF TMAHR @H H N (@) |1 39
IR T WET S |

Ife foRelt wva & =t aun 3 srgene o @i
AT B A1 U 3ATE B A TE GHI IR |

Fed BN & [0 Faa W= 73 § feu ™ e #=
T | I TR W Fe & A W

70 it & 3¥aT JATTeh! ITR Jifehd T8 & 2 |
IR el I g H @ 3

Go through instructions given in Page No. 1 (Facing Page)




